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SECTION - A
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i) General Awareness

The Theory of Relativity was developed
by

(A) Blaise Pascal

(B) Albert Einstein

(C) Stephen Hawking

(D) Thomas Alva Edison

India's first-ever Floating Basketball
Court has opened near which city ?

(A) Kochi

(B) Assam
(C) Mumbai
(D) Hyderabad

Which Union Ministry has launched the
Audio Odigos App ?

(A) Ministry of Tourism
(B) Ministry of Social Justice and
Empowerment

(C) Ministry of Human Resource
Development

(D) Ministry of Culture

Who among the following was the first
Tirthankar of Jainism ?

(A) Vardhamana Mahavira
(B) Parshwanath

(C) Rishabhanatha

(D) Sambavanath

The name of P.C. Mahalanobis is
special in the Indian Economy. He was
associated with

(A) Liberalisation of Indian Economy
(B) Five Year Plans

(C) Reserve Bank of India

(D) Public Distribution System

6.

10.

The Bhakra Nangal Dam is built in which
river ?

(A) Beas
(B) Sutlej
(C) Ravi
(D) Jhelum

Which State Cabinet has approved
India’s first Sports University ?

(A) Odisha
(B) Kolkata
(C) Delni

(D) Tamil Nadu

What does the term ‘Lunar Apogee’
means ?

(A) Pointin the lunar orbit farthest from
the Earth

(B) Point in the earth’s orbit that
intersects with lunar orbit

(C) Point in the lunar orbit nearest to
the Earth

(D) None of the above

Robusta, Singapuri, Giant Governor
and Mortman are varieties of which of
the following ?

(A) Coffee
(B) Cotton
(C) Apple

(D) Banana

Which State has become the India’s
third State to ban certain categories of
pan masala ?

(A) Rajasthan

(B) Bihar

(C) Maharashtra
(D) Madhya Pradesh
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(B) wTHITeh I e ESTfaahol Gy
(C) uHa gaTe foerma we

D) w&Hfd Haera

. St % um dde e 9 7

(A) FHAH TEER

(B) UrvEag

(C) FIHATY

(D) HEETY

. RS stefegawen § bt o). gereEiEy #5
T oSy ? | 98 DA E |
(A) STRAT referawen & i

(B) U= Ay IrsT

(C) wndF fed S

D) HEwe foraor yoreht
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SRiE TR S HiedA
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(A) i
(B) Hd
(C) &
(D) el

FH-|1 TF T FHT 61 F AR |
Teh ST STeAT WA ol S T &7 7
(A) TSEIH

(B) faEr

(C) Herg

(D) WeT oY
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12.

13.

14.

15

Which Union Ministry has launched an
Automated Real Time Performance
Smart-board ?

(A) Ministry of Aviation
(B) Ministry of Defence
(C) Ministry of Environment

(D) Ministry of Electronics and
Information Technology

What is the theme of the 2019 edition
of World Space Week (WSW) ?

(A) Exploring New Worlds in Space
(B) Exploring the Black Hole

(C) The Moon : Gateway to the Stars
(D) Space War

Which bank has signed MoU with Indian
Army for customised services ?

(A) State Bank of India
(B) Bank of Baroda

(C) Bank of India

(D) Punjab National Bank

Which Union Ministry has instituted the
Vayoshreshtha Samman - 2019 ?

(A) Ministry of Diaspora Affairs
(B) Ministry of Environment

(C) Ministry of Social Justice and
Empowerment

(D) Ministry of Finance

Which among the following is the first
country to issue research licenses for
human embryonic cloning to create
stem cells ?

(A) United States
(B) Japan

(C) China

(D) United Kingdom

101 0O ) 00 0

16.

17.

18.

19.

20.

Hypertension is the term used for
(A) Decrease in Blood Pressure
(B) Increase in Blood Pressure
(C) Decrease in Heart Rate

(D) Increase in Heart Rate

Where is Westphalia located ?
(A) Germany

(B) Sweden

(C) Denmark

(D) Iceland

Who is the author of the book ‘Clash of
Civilisations’ ?

(A) Francis Fukuyama

(B) Samuel P. Huntington

(C) Tarek Fatah

(D) Amartya Sen

The original Constitution of India was
handwritten by

(A) Rabindranath Tagore
(B) B. R. Ambedkar
(C) K. Munshi

(D) Prem Behari Narain Raizada

The Indian National Flag was designed
by

(A) Alluri Sitarama Raju

(B) Pattabhi Sitaramayya

(C) Pingali Venkayya

(D) U. Narasimha Reddy
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11.

12.

13.

14,

15.
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(A) 3ITSTA AT

(B) &7 HATeH

(C) TFTERY BT

(D) TFIHTY TR g1 dohe1eh TATH

forea s7aft g & 2019 T F2
T L 7

(A) Tafter § U fawai f @

(B) Fw Tz i @il

(C) =T : AT 1 e

(D) HAaR& I35

foroeiiera Saneti g v 8 o oy fora

S 4 ouEa W gEaen fFa g 7

(A) YT W2 9

(B) = i sda

(C) &= e 3fea

(D) U AIFA S

form e TeTerE 3 IS T - 2019

I R & 7

(A) TaTEt TS T

(B) IS0 TATAT

(C) ISR =T TR FrfeRrahaoT
HATed

(D) Tormt HaTeTg

Fre=ferfiga O & 9 -91 98 een on & foem
HHE YU ! FAMT § IR I
1 S 1 ST 158 ST R @ 7
(A) FATECS TWeH

(B) SITIH

(C) =M

(D) IR foren

16.

17.

18.

19.

20.
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BIERIYH 762 ¥ fu s |
(A) =TT H FH
(B) Ta=md H gig
(C) T H =l
(D) TERHIfG

AEHTT 4 feEe |
(A) SR

(B) e

(C) =HHh

(D) HTgHcie

‘Fre1 317 fafemeava ' T o AGH
FHE?

(A) i e

(B) dqrd i gféreA

(C) TR B

(D) e T4

I 1 et Ffaem FH EEdfeIiaa
o |

(A) gy &R

(B) fI.3TR. 3T

(C) . g :

(D) W fard 47 TS

qdE T s w fesss . 3
oA ™T |

(A) Aol T TS

(B) TEIy Hiarda

(C) furrett FF=n

(D) 3. Riaw



MKG-XXVIITECHMT/1T/01

21.

22,

23.
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i) General Intelligence and Reasoning Ability

A person travels a distance of 7 km
towards East from his house, then
travels 7 km towards North and then a
distance of 7 km towards East and then
a distance of 7 km towards North. What
is the vertical distance travelled by him ?
(A) 28

(B) 21
(C) 14
(D) 7

Mr. Pawar travels 10 km towards West
and turns right to travel 4 km. Now he
turns right and travels 7 km. In which
direction is he now with respect to the
starting position ?

(A) South — East

(B) South — West

(C) North — East

(D) North — West

Starting from his house, Sachin walks
a distance of 8 m towards North, then
he turns left and walks 6 m, then walks
3 m towards South and finally travels
6 m towards West to reach his office.
What is the distance between his house ?
(A) 5m

(B) 13 m

(C) 7m

(D) 283 m

24,

25.

26.

A’'s father's mother in law’s only
daughter’'s son is B. How is A related

toB?

(A) Brother

(B) Sister

(C) Niece

(D) Cannot be determined

A + B means A is the son of B.

A — B means A is the daughter of B.

A x B means A is the father of B.

A + B means A is the mother of B.
fMxN+O-P<+Q, then how is M
related to Q ?

(A) Husband

(B) Cousin

(C) Brother-in-law

(D) Uncle

Seven persons Paul, Queen, Rax,
Sam, Tom, Unif and Vali are sitting in a
row facing us. Rax and Sam sit next to
each other. There must be exactly four
persons between Queen and Vali. Sam
sits to the immediate right of Queen. If
Paul and Tom are separated exactly
by two persons, then who sits to the
immediate left of Vali ?

(A) Paul

(B) Tom
(C) Unif
(D) Rax



01 0

21.

22.

23.
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ii) wraT= gigwan qen arfehe T

TF AfFd o9 W H 7 .. g6 3 S
7 T, 3 TR T 7 6. . g & 5
219 7 6.1, 3w 8 San 1 39 31
q9 1 T IAER G AR ?

(A) 28

(B) 21

(C) 14

(D) 7

oft. var ufyem ¥ 10 fe.f. 9. 2, T
aTd gt 4 T . wrerd #1 i and e
7 .. TR ) 98 o SR wE @
fra e ?

(A) o - g

(B) sferor - afvem

(C) W -

(D) I - ufv=m

3 W IE Fd Y A IR H AR
gt Tretan 8| fort st g 6t Tera 2,
T afeqor 1 3T 3 . =reran & i ST
6 Tft. ufvem H = & 3R FEied qgeare |
FHFRCE AN F TR AR 7

(A) 5.
(B) 134
(C) 7.
(D) 23l.

24.

25.

26.

A o e 1 T 1 el el 1 7H B
A BIEfFEyER GERtE ? 7

(A) WS

(B) ¥

(C) weftsit

(D) Trutfea 72 foran i T 2

A+BEFT A2 ABHITA 2
A-BH FF 2 ABH A2

A xBF 314 2 A B frar )

A =B 34 2 A Bl AEIRI
IEMxN+O-P+Q @AMQH fFa
TR HaiiE ® 2

(A) d9fd

(B) =T T

(C) wers/aret

(D) =T

TTa Ao Uie, FH, 190 , 89, 2|, IHE
3fR areht vs dfF § 93 ) 9w v dn
e g 3 a1 3 ¥ i et areh ¥ e
T ek =R A B ST | SH i &
Fwed 33 E| R M s vl F Fa
s & Aah F g A A A E 7
(A) Tia

(B) 2

(C) T

(D) =



MKG-XXVII/TECHMT/1T/01

27. P,Q, R, SandT are five speakers who

28.

29.

have to speak on a particular day, not
necessarily in the same order. R is
neither the first nor the last speaker.
There are three speakers after S and
three speakers ahead of T. If P speaks
after Q, then who is the last speaker to
speak ?

(A) S

B) T

(C) P

(D) Q

P, Q, R, S and T sit around a table.
P sits two seats to the left of R and Q
sits two seats to the right of R. If S sits
in between Q and R, who sits to the
immediate right of P ?

(A) T
(B) S
€ Q
D) R

Which of the given conclusions definitely
follows from the given statements ?

Statements :

Some pens are cows.

All dogs are pens.
Conclusions :

|. Some dogs are cows.

Il. Some cows are dogs.

(A) Only | follows

(B) Only conclusion Il follows
(C) Either | or Il follows

(D) Neither | nor |l follows

AN 000 00 00 1

30.  Which of the given conclusions definitely

31.

32.

follows from the given statements ?
Statements :

All footballers are short.

Sonu is short.

Conclusions :

I. Sonu is a footballer.

Il. Sonu is not footballer.

(A) Only conclusion | follows
(B) Only conclusion Il follows
(C) Either | or Il follows

(D) Both | and Il follows

Statements :

S<Tz20=R

T<V

Conclusions :

. R<S

I. T>R

(A) Either conclusion | or Il is true
(B) Only conclusion | is true

(C) Only conclusion Il is true

(D) Both conclusion | and Il are true

A man said to a lady, “Your mother's
husband’s sister is my aunt”. How is the
lady related to the man ?

(A) Daughter

(B) Granddaughter
(C) Mother

(D) Sister
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27.

28.

29.

P, Q, R, S 3R T uid aa & s U o9
e EisIFss Fdwmia IR
I AR Tl el T2 | S FER dH
FFIE M T ATRAAH IHRTE PQ FIE
Sietan & o sAfay S PE R ?

(A) S
(B) T
(C) P
(D) Q

P,Q,R,S 3T T % 9r AL |
P R % S0 g1 |2 718 & 31 Q R and &
Heake 1Ak SQ M RF AT AT L,
APF A A R 318 7
(A) T
B) S
©) Q
(D) R
fou o el ° FH-an feeed ffraa w9
T SO FAT R 7
FOA:FSTHTAE |
a:ft 3 99 |
e
| FSFATEE |
II. F T F 2
(A) FEH | STTEIT Tl B
(B) hael e || STER0 T ®
(C) AN 1A || ST AT 2
(D) Tl |7 || SFETOT T B
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30. feu v ool ° @ F9-m Afvea s=v @

31.

32,

STFHLT AT © 7

EW:E@WW@%%I
TH BT 2|

e

|. | U Feaia faaret |

Il. | U Feara faare 78 21

(A) Faet Ty | STE Fa

(B) et ey || TG0 LT &

(C) JTAN 1T || AT AT &

(D) T | ST || STTEROT FAT &

YA :

S<T>20=R

T<V

e

LBZS

I. T>R

(A) TSRS | TMEA B

(B) et ferd | Teg

(C) e feerd || e B

(D) & e | SR 1 TT @

Ueh A ferl U Ufeet 9 FRd1 e, S9Eh A
Fuld A ARG g e Afeen WAl
fora PR Tt & 7

(A) T

(B) it

(C) Hrid1

(D) &4
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33.

34.

35.

36.

Which of the given conclusions definitely
follows from the given statements ?

Statement :
Morning walks are good for health.
Conclusions :
l. All healthy people go for morning
walks.
Il. Evening walks are harmful.
(A) Only conclusion | follows
(B) Only conclusion Il follows
(C) Either | or I follows
(D) Neither | nor Il follows
The number 729 is the square of which
of the following numbers ?
(A) 20
(B) 22
(C) 25
(D) 27
A printer numbers the pages of a book
starting with 1 and uses 3189 digits in

all. How many pages does the book
have ?

(A) 1000
(B) 1074
(C) 1075
(D) 1080

Robin says, “If Jai gives me % 40, he will
have half as much as Atul, but if Atul
gives me ¥ 40, then the three of us will
all have the same amount.” What is the
total amount of money that Robin, Jai
and Atul have between them ?

(A) 240

(B) ¥ 320
(C) 2360
(D) T 420

T 0 00 000 0

37.

38.

39.

40.

If in a code language, PAINT is written
as 74128 and EXCEL is written as
93596, then how will ACCEPT be
written in that language ?

(A) 455978

(B) 544978

(C) 554978

(D) 733961

How many sets of two letters have
as many letters between them as in
the alphabetical order in the word
ARISTOCRAT ?

(A) 1
(B) 2
€) 3
(D) 4

Amit is ranked 121 from the top and Ravi
is ranked 15" from the bottom in a class of
35 students. How many students are there
between Amit and Ravi ?

(A) 8

(B) 9

(C) 6

(D) 7

In a row of 40 boys facing the North,
Amar is 6" to the right of Sandeep and
Sandeep is 11" to the left of Vijay. If
Amar is 28" from the right end of the
row, what is the position of Vijay from
the left end of the row ?

(A) 17t

(B) 218t

(C) 20t

(D) 1gth
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33.

34.

35.

36.

-11-

fau mu frepet @ @ FA-T ffvea w0 9
STTE] FAAT &

A

gere il W @R & foau = 2
Foreamd -

|. Teft Ty safFa gue it §1 w9 2|
\I. ST 1 B ETHERSE 2

(A) Fae freehe | S3ET e

(B) Hae Ty || 310 a1 €

(C) =& |3 || FTE FAT 8

(D) 1T || SR T 2

729 Tz g Refefaa 9 8 gem st
a7

(A) 20

(B) 22

(C) 25

(D) 27

F et 1 8 % 1 T §1F S 7R W
T [f5a F1 & 3R 3189 3T F M
A1 ¢ FF H PR TS © ¢

(A) 1000

(B) 1074

(C) 1075

(D) 1080

i Fear 2 ‘AR S g T403@ @
T 3T T AGHA | 19 TH B, W IR
A g3 % 40 31 &, 1 29 1 &% 9
HE T ERf |7 TfeE, S 3 o g &
U Rt afor g 7

(A) %240

(B) %320

(C) %360

(D) 420

37.

38.

39.

40.
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Ifg U F 9T H, PAINT &1 74128
3 EXCEL #1 93596 foran s &, d
ACCEPT 1 34t s o =R foram ?

(A) 455978

(B) 544978

(C) 554978

(D) 733961

ARISTOCRAT 3158 1 21 31&R & U fohael
e 2 foren ofre 3 ek 3 & orer 2 o
SR U B R 7

(A) 1

B) 2

C) 8

(D) 4

AF A TN T 123 2 R
¥ 15 af &1 Fen § ot Foreneff 35 1 tfm
3w 15 % =i fora freneff 2 7

(A) 8

(B) 9

(C) 6

(D) 7

40 TIEH! I T Ufa | S IH H WG
T gUE, TR Fe Bel AR T o
Fand 11 9 g IS 3R ufed 6 < 3 |
28 gf & a1 dfert 9l 37 & Fosm -
R !

(A) 17t

(B) 21df

(C) 204t

(D) 183t
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41.

42.

43.

A4

45.

46.

0T 0O 0O

iii) Arithmetical and Numerical Ability

An integer exceeds its reciprocal by
143 | then the integer is

12
(A) 6 (B) -12
(C) 12 (D) -6

If X2 — 9x — 36 is negative, then range
of x is

(A) (=3,12) (B) [-3,12]

(C) (-12,3) (D) [-12, 3]

The maximum value of 3—| 2x—1 | is
(A) o (B) 3

(C) -3 (D) 0

If x + 4, 6x — 2 and 9x — 4 are three
consecutive terms of an arithmetic
progression, then x =

(A) 2
(C) 6

The sum of n terms of an arithmetic
progression is 5n2 + 2n. Then the nth
term of the series is

(A) 10n+5
(B) 10n-3
(C) 5n-1
(D) 5n-2

3 3
Valeos (10.23)° - (4.77)

(10.23) +(4.77) +(10.23)(4.77)
IS

(A) 15

(B) 5.46

(C) 10.23

(D) none of these

47.

48.

49.

50.

51.

The HCF of 2 numbers is equal their LCM,
then the numbers must be

(A) prime

(B) co-prime

(C) equal

(D) none of these

The least number which when divided
by 12, 18 and 33 leaves a remainder of
5 in each case is

(A) 394 (B) 396

(C) 391 (D) 401

Find the odd number out.

(A) 3

(B) 9

(C) 15

(D) 17

3 consecutive natural numbers are such
that the square of the middle number
exceeds the difference of the squares
of other two by 96. The 3 numbers are
(A) 12,13, 14

(B) 11,12, 13

(C) 10, 11,12

(D) 25, 26, 27

A man buys an article for Rs. p and sells

it for Rs. 21 at loss of p%. The value of
pis

(A) Rs.10o0rRs. 80

(B) Rs.300rRs. 70

(C) Rs.500rRs. 60

(D) None of these
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41.

42.

43.

44.

45.

46.

13-

o Wi R e A 143 sRm @

i & te
(A) 6 (B) =12
(C) 12 (D) -6

Ife x2 — 9x — 36 AU &, a1 x I Joft &

(A) (=3,12) B) [-3,12]
(C) (-12,3) (D) [-12,3]
3—|2x—1 | ARFH IR B
(A) = (B) 3

(C) -3

(D) 0

?Jlﬁ’x+4, 6x—2§?l(9x—40§58ﬂiﬂ“{3:1“ﬁ

FIAFIAURE, A x =
(A) 2 (B) 4
(C) 6 (D) 8
Teh THIR 27t & n 981 TN 502 + 2n 8,
q JEe F n AR R
(A) 10n+5
(B) 10n-3
(C) 5n—1
(D) 5n-2
(10.23)° - (4.77)° o

(10.23) +(4.77) +(10.23)(4.77)
(A) 15

(B) 5.46

(C) 10.23

(D) 78 © 1 T

47.

48.

49,

50.

51.
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2 TS 1 HHY 39 oTHY % U 8,
ks te T =feT |

(A) I

(B) ITEEHTY

(C) =R

(D) $9H | IS T

T B A B8 e 54 12, 18 31 33
B fawfora 9 7w IR 919 5 9T 8
(A) 394 (B) 396

(C) 391

T s g3 |
(A) 3

B) 9

C) 15

(D) 17

- (D) 401

3 FHTTA JTeH e HEAT0 36 TR & & ueg
&A1 1 A1 I 3 GEATS o I o IR
¥ 96 Afer B | o TEAT ©

(A) 12,13, 14

(B) 11,12, 13

(C) 10, 11,12

(D) 25,26, 27

UF A T I5 Fl p . ° GEH 39
21 %. ¥ 99a1 § 3R p% B 33T R |
pF UM 2

(A) % 10AT%. 80
(B) %. 30;ATE. 70
(C) % 50%1%. 60
(D) 8 @ =S e
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b2.

53.

54.

58.
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10 years ago, the average age of the

family of 4 members was 24 years. Two

children have been born. The average
age of the family is same today. The
present age of two children assuming
that children’s age differ by 2 years
are

(A
(B
(C
(D

2 years and 4 years
3 years and 5 years
3 years and 1 year
none of these

A person gets Rs. 1,216 more when

selling a product at a profit of 15%

instead of a loss of 4%. What would be

the percentage profit/loss if it is sold for

Rs. 7,552 ?

(A) 22

(B)
(C) 1

(D) none of these

The recurring decimal 0.2313131 ......

can be written in the rational fraction

form as

231 231
N =l (B): 2348
100 1000
229 231
e = (D)o =3t
990 900

How many kilograms of pure groundnut
oil should be added to 20 kgs of 80%
pure groundnut oil, so that the resulting
mixture contain 95% pure groundnut oil ?

(A) 80kg
(B) 66 kg
(C) 60kg
(D) none of these

56.

57.

58.

59.

60.

The longest side of a triangle is 3 times
the shortest side and the third side is
2 cm shorter than the longest side. If
the perimeter of the triangle is atleast
61 cm, then the minimum length of the
shortest side is
(A) 10cm

(C) 9cm

(B) 8cm
(D) 7cm

In a polygon, the sum of the interior
angle is 1980°. The number of sides of
the polygon is
(A) 12
(C) 14

(B) 13
(D) 10

The circum radius of an equilateral
triangle whose side is 9 cm is

3./3cm (B) 3V3

_cm

sJ_

—__cm

J3 cm

A ladder is placed against a wall of
height 18 m. If the top of the ladder
makes an angle of 60° with the wall,
then the length of the ladder is

(A) 36m (B) 12v3m
(C) 18V3m (D) 48 m

If sino. + sinf +Bsimr = 3, then the value
o 5 X
of cot /2+cot2 +cot2 is

(B) 1
(D) 3
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52.

53.

54,

55.

“45-

1099 4, 4 He&1 o GREr $ 3fied 31y
24 99 i | 31 9= 3R ¥a1 gU gRER H
Hied g A ofl 38 ® | 31 Sl Al
Y | 2 I F1 AR A Y & T4l hl
Fa9H Y 2

(A) 239 3T 4 98

(B) 33 3R 599

(C) 399 3R 199

(D) T | K T

T ITE Tl 4% BT F1 S 15% AT
W 59 ¥ U Afd Hl 1,216 &, 3AfUF
T B & | Sfasrd e /aiH Fn g afe g8
7,552%. H o= ST @ ?

(A) 22

(B) 19

(C) 18

(D) 8 § IS TE

AT eHAd 0.2313131 ..., = gy
=1 gem F &9 H formd € |
fﬂ @y 2318
00 1000

220 231
990 900

20 ferctram it 80% Y& HThelt & dt |
forae forcirma Jreeft =1 o e sy
atfer afvorret forsror § 95% 1€ grwett &
da w7

(A) 80 ..

(B) 66 .71

(C) 60 T

(D) ¥ & H5E T

(A)

(©) (D)

56.

57.

58.

59.

60.
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T S ol FoE T 7 g9 B e
T 3TN I E | SR AT g ge e
71§ 2 om B 2 | A2 Frgst i oo
61 cm &1, 11§58 BIET 3T 1 AaH T8
2

(A) 10cm

(C) 9cm

(B) 8cm
(D) 7em

TS FEY H, 37q: HI0 F A 1980°

TRy Y et Al e @

(A) 12 (B) 13

() 14 (D) 10

s e e f e e g
9cme

(A) 3Gem  (B) %cm

(C) V3 cm (D) ij—gcm

U Hid # 18 m F= TF AN & HEr
@l fra g | afe didh =1 3 Sar s |y
60° 1 101 4141 2, a1 Wi it s 2

(B) 1243 m
(D) 48m

(A) 36m
(C) 18V3m

2 sino + sinp + siny = 3, @

p 3 %
o/ 4 L b go = |
cot /2 cot—+cot— i

(A) 0
(C) 2

(B) 1
(D) 3
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61.

62.

63.

64.

65.
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iv) Hindi Language and Comprehension

2= s s ey

foreft ST o TR T o FHES W H
FTFEA & 7

(A) FviHTET

(B) =i

(C) =

(D) ¥H & Hi3 T

T ) FEE DI THE 2
(A) &

(B) =FsH

(C) =

(D) A

fewt gofuren % agaa avi _
21

(A) 2,3,%,73

(B) 7,1, ¢, d

(C) 4,9,38,49

(D) &,7,3F,9

ot oft T o S=am ° eeaTe 99T
79 1 1 FEd 8 7
(A) &

(C) ==

‘F' it & A I T FET AL ¢
(A) >

(B) I

(C) *e=

(D) 2=

66.

67.

68.

69.

fafafag famm fomei o v = e
e

(A) “ " ® ()

(C) - B)==

(;) @7 T T =1 wam el T s

27

(A) el 28 9rel 2 5 foru s B B

(B) H1 TANT AT i ofal W Ere B

(C) el sieufarm i go1 § %8 sifusw
T FFHAT B B

D) T8 @ FrE T

(=) T G Tome o1 T3 el B 2 ?

(A) TR T AT I ) T T

(B) Toreft amery =it forad w0 e 2 s
zal

(C) <79 TS =Td qof 7 heerd st o 31qul
Big &t STt at

(D) ST FRT SRTERT ol &1 o fore foram
ST ®

o= wreai & foreft wiofl, warel & wqe A
ST 1 9 8T 8, 39 EEEll
FEd © |

(A) Shfqar=s
(B) =AfaaTae®
(C) waaT =
D) T ¥ &g e
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70.

Z1

12,

73.

74.

75.

AT

S & STTUR T EF1 & fhad 9g & 7
(A) @ (B) @F
(C) IR (D) 9=

o= ganeti & fum-foe vise el &1, 3=
FEd ¢ |

(A) &38R

(B) Afir

(C) AnTER

(D) 399 & =IE e

‘o e A W R 7

(A) 3 (B) fe=

(C) st (D) &&Fa

RIEEIEET I il

(A) gfgm

(B) Hifem

(C) 39 fom

(D) 7 § w7 T

T o w1 R gon @ s 2, A
&1 % Ty g S T B @ 7

(A) = B)

(C) W (D) #

ST 58 ATE o Y1sa] I oo Fdl & 7
(A) wrd
(B) el
(C) ==

(D) ¥ ° %15 e

76.

77.

78.

79.

80.
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QENATES 9 & e yem Ee 8 ?
(A) a (B)

(C) =W (D) =

T o ety fred Bt 2 7
(A) =1

(B)

(C) waT™

(D) TH & F1E T

o foramatt =1y =l W v @, 9
foraT e ¢ |

(A) s fa

(B) T farm

(C) Somefs faan

(D) &g foan

@ foreh frfRm e i dm 2
M_ FEE

(A) FrETEE gdam

(B) Trvawam=s wdam

(C) AT TTeETEF TEH

(D) TUETEE AW

i1 siferehTt vrse T3 & faieen sam 2,
IE T FEd B 7

(A) Topan fargreor

(B) fermor

(C) fomr=t

(D) 78 & =18 T
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v) English Language and Comprehension
TS e 3R Y

Fill in the blanks with suitable articles from
among the choices given below them.

81. Helivesin
from here.

(A) an
(B) the
€) a
(

D) none of these

second apartment

82. Zen owns BMW.
(A) a
(B) an
(C) the

(D) no article required

83. He spoke like
man.

(A) a
~ (B) that of
(C) an
(D) the

Fillin the blanks with appropriate prepositions
from among the choices given below them.

enlightened

84. | have known Neina
(A) since
(B) o
(C) for
(

D) from

years.

85. Restthe ladder
you step on the rung.

(A) beneath
(B) on

(C) ahead
(D) against

the wall before

86. You will have to go the bend
to see the new house.

(A) towards
(B) until
(C) round
(D) of
Add suitable question tags to the following

statements from among the choices given
below them.

87. Tuffy won't stop eating millet, ?
(A) won't he (B) will he
(C) isn'the (D) had he

88. Rioters shouldn't disturb commuters,
?
(A) hadn't they
(B) will they
(C) shall they
(D) should they

In each of the following sentences a word is
underlined. Choose the right synonym of the
word underlined from the alternatives given
below the sentence.

89. The hermit unfastened the man.
(A) tied
(B) untied
(C) caught
(D) arrested

90. His family had gathered to wish him a
safe voyage.
(A) return

(B) landing
(C) journey
(D) stay
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91. His mental disturbance was similar to
paranoia.
(A) sanity
(B) insanity
(C) restlessness
(D) depression
Fill in the blanks in the following sentences

using the appropriate antonyms of the words
underlined.

92. He challenged that he would make the

achievement possible.
(A) unpossible
(B) potential
(C) impossible
(D) viable
93. Thestrengthsand  of the new
education system was listed out by the
students.

(A) weakness

(B) weaknesses
(C) failures

(D) persuasiveness

94. Though , he taught like an
experienced teacher.

(A) unexperienced

(B) veteraned

(C) versed

(D) inexperienced
Choose one word substitute for the following
from among the choices given below them.

95. Confirming the receipt of something
(A) inspiration
(B) embarrassment
(C) destination
(D) acknowledgement
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96. An intense or strong desire

(A) craving

(B) toxic

(C) mitigate

(D) paranoia
Fill in the blanks in the following sentences
using the appropriate forms of the words

given in brackets from among the choices
given below them.

97. We should know the (important)
of a well balanced diet.

(A) important
(B) importantly
(C) importance
(D) importness

98. They wereinvolved in a heated
(argue).
(A) argue
(B) argument
(C) argumentative
(D) argufy
Choose the wrongly spelt word from the

following choices and mark its corresponding
letter as your answer.

99. (A)
(B)
(©)

(D)

(A)
(B)
(C)
(D)

DETERIORATION
UNNECESARY
ANNOUNCE
PREOCCUPATION

100. QUESTIONAIRE
REVENGE
ACHIEVEMENT

DISTINGUISHED
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101.

102.

103.

104.

105.

The vibration (F99) of a swara at a

speed of %3 N matrakaalis a
type of gamak.

(A) Tirip Gamak

(B) Aandolit Gamak
(C) Sphurit Gamak
(D) Kampit Gamak

Tansen was a disciple of
(A) Amir Khusro

(B) Abdul Kareem Khan
(C) Swamy Haridas

(D) Baiju Maharaj

The process of counting the beats in a
taal by making sound is called

(A) Sashabd Kriya

~ (B) Shabd Kriya

(C) Nishabd Kriya
(D) Kala

Which among the four is not one of the
Ang (37) in taalas ?

(A) Anudrut

(B) Atidrut

(C) Drut

(D) Kaakapada

Komal Reiscalled __ Swara.
(A) Shudh Swar

(B) Vikrut Swar

(C) Teevra Swar

(D) Achal Swar

U 0 000 0

SECTION-B
Post Specific Subject — Related Questions

106.

107.

108.

109.

110.

i fifi 2

If a raag has 6 swaras in Aaroh and
7 swaras in Avaroh, then its jaati is

(A) Audhava — Sampoorna
(B) Shadhava — Sampoorna
(C) Sampoorna - Audhava

(D) Sampoorna - Shadhava

Which among the four given below, is
an Achala (3<<1) swara ?

(A) Re (B) Ga
(C) Pa (D) Ni

Which among the four is not one of the
parts of a Drupad ?

(A) Sthayi (B) Antara
(C) Sanchari (D) Bhog

The speed at which the song is sung is
called

(A) Magnitude (B) Matra
(C) Timber (D) Laya

Identify the type of taan given.
(A) Koot taan
(B) Vakra taan
(C) Palta taan
(D) Sapat taan

The total number of swaras in a
Saptak

(A) 7

(B) 12

(C) 22

(D) None of the above
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101

102.

1083.

104.

105.

=2 {=

R - &
U Wi &g - gaet v

. Vod e #e i UF i W R
FHH TR ol T 2 |
(A) fafe T
(B) ATEiferd T

(C) TFHd THF
(D) HfUq TR

GICEeE|

(A) i g
(B) ¥7sgd FH{H @H
(C) i efer™
(D) S5 WERT

SS9 I FEF UF a7 § &1 F1 o
SIEDI FeATl B |

(A) @sTee fom

(B) w18 o

(C) Trwrse faram

(D) FA

Fafafiaa 9w 4 8 -1 die 5 37 T8
27

(A) 3dgd

(B) fagd

(C) za
(D) HIHITE!

& I o |

FHATH T FHE Il 2
(A) I8 =R

(B) Tora &R

(C) g =R

DEEEES:

106.

107.

108.

108.

110.
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I TFH T G 6 =R ANE § N 7 =W
IR | § d1 38l It 2

(A) 3itega - Fyot

(B) =gd - Hui

(C) wu - shea

(D) H9vi - |TeS
fRfumuami g d $H-T sEa @ e ?
(A) 1 (B) M

(C) w (D) W
frafafea =@ § & #8-w 1 goe =
AT AE & 7
(A) T
(C) Hawl

(B) 3Aau
(D)

g T TS/ 9 T TR e 2
(A) TiEm (B) Hm=I
(C) form (D) =

T &1 YR TELTHT |

(A) 2 daH

(B) & A

(C) Uea1daHd

(D) TURZ aH

UF T U T i FA 9 B
(A) 7

(B) 12

() 22

(D) & § 9 FIE T
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113.

114.

115.

116.

e g fog fore wgd T T g2 |
-TIE -FgaEid_ FeE ||
- I IfEEwEn
Identify the raag.
(A) Bhairav
(B) Bhairavi
(C) Purvi
(D) Asavari

Raag Miya Malhar belongs to
thaat.

(A) Khamaaj

(B) Kafi

(C) Bhairavi

(D) None of the above

fa, g, w7, ®, W, T, T ||
Identify the raag.

(A) Todi

(B) Purvi

(C) Purya

(D) None of the above

fa, =1, ®, wm, o, 7, O |

Identify the raag.
(A) Bihag
(C) Yaman

(B) Bhimpalasi
(D) Kafi

It is said that,

Tappa style of singing.
(A) Asif Uddu-al Miya
(B) Gulam Nabi

(C) Shori Miya

(D) Ali Akbar Khan

invented the

A 0 000 0

YA 7.

118.

118.

120.

21,

Lucknow and Banaras are famous
for Thumri style of singing.
Above statement is

(A) True

(B) False

(C) |don't know

(D) None of the above

The long wooden part of the tambura

which is joined to the Tuumba (FaT) is
called

(A) Meru

(B) Bridge (fsi=1)
(C) Daad (Efe)
(D) Gulu ()

The place between chati (I7¢1) and

Shyahi (®I78) is called
(A) Bad dhi

(B) Pudi (321)
(C) Dualo (33Te)
(D) Lava ()

Shudha Ma in Hindustani music is called
in Carnatic music.

(A) Antara Ga
(B) Sadharana Ga
(C) Shudha Ma
(D) Prati Ma

Shatshruti Da in Carnatic music is called
in Hindustani music.

(A) Shudha Ni
(B) Teevra Dha
(C) Komal Dha
(D) Komal Ni
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112.

113.

114.

115,

116.
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Fme Tt foa o =sea 7 7 9273 |
g-TaE -Fadld_ wern

- T SfEHER
T YE=THT |
(A) &=
(B) 9wl

©) gt
(D) IFETE

wfiEigeer . 9@ A AR |
(A) @HTs

(B) =Tl

(C) ¥h

(D) 3% | H1S TR

fa, g, oo, o, 0, T, LA

T YT |

(A) qrEl

(8) T

(C) T

(D) 3 ° 9 *IE T&

f3, @, |, 7, W, W, 9RY |

T YR |
(A) foem
(C) a4

(B) oarerdi

(D) FTHI
TEFT@eFE  FTEAHR T
1At & @ A |

(A) T 35-31a fral

(B) Term it

(C) v foai

(D) A S @H

L

118.

118.

120.

2.
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A i gl Sl % foTe Taas 3R e
JHS ® |

3I9d FH B

(A) T

(B) 3TEd

(C) T3 3 T

(D) 39§ @ H13 A&

da 1 T TFE! ATl 9T S s ° &
AT E, FEATI 2 |

(A) HE

B) forst

(C) =T

(D) T,

It 3R = F = W e
FEAT 2 |

(A) =TS

B) &

(C) g3

(D) ==

fegeart @fia =1 Y8 | FHifesh i 4
FEAT & |

(A) Faq

(B) HTERY

(C) AsH
(D) wfam

AT wiftd &1 1eyfd 2 fegmart wfia
#__ FEdm@e |

(A) T

B) d=y

(C) FMaA 9

(D) Fmer
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122.

123.

124.

125.

126.

127.
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Pt. V.D. Paluskar was born in
(A) Satara

(B) Miraj

(C) Kurund Wad

(D) None of the above

“Abhinava Raag Manjari” was written
by

(A) Swamy Haridas

(B) Ahobal

(C) Pt.V.D. Paluskar

(D) Pt. V.N. Bhatkhande

“Mairis Music College” was established
by

(A) Pt.V.D. Paluskar

(B) Pi. V.N. Bhatkhande

(C) Ustad Bismillah Khan

(D) Ustad Faiyaz Khan

Kinnari Veena was invented by
(A) Sharang Dev

(B) Bharat

(C) Dattil

(D) Matang

According to Sharang Deva, which
among the four is not one of the types
of in which the raaga is not classified ?

(A) Gram raag

(B) Bhasha raag
(C) Raganga raag
(D) Krupang raag

Amir Khusro lived in the period of
(A) Mughul period

(B) Khilji period

(C) Akbar period

(D) Maurya period

0000 0 0

128.

129.

130.

131.

132.

The raagas which are sung during dusk
and dawn are called

(A) Paramel Praveshaka raag
(B) Prathakala raaga

(C) Sandhi Prakasha raaga
(D) Sayam raaga

“Ragatarangini” was the music work by
(A) Mirza Khan

(B) Swamy Haridas

(C) Lochana Kavi

(D) Swamy Krishnadas

“Chaturdandi Prakashika” was the
music work by

(A) Govinda Dikshit
(B) Lochana Kavi
(C) Pt. Bhatkhande
(D) Venkatamukhi

Taal Choutaal has matras;
number of khand and khaali
on____ matras.

(A) 12; 6:[3,7]
(B) 12; 6; [3,9]
(C) 12; 4; [5, 9]
(D) 12: 4: [5,7]

What are the total number of matras in
Chougun of taal teentaal ?

(A) 16
(B) 32
(C) 64
(D) 128
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122.

123.

124.

125.

126.

127.
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ufed 1.8 uegER
(A) Fam

(B) WS

(C) FEea=

(D) 34 # 4 FIE TE
T |

(A) Tl efem

(B) “AETEA

(C) dfed a2 g

(D) ufed =fi. w7, yaEe
:.mfﬁa‘r%ﬁmnml

(A) dfed =121 TRt

B) dfed dt.uq. waEs

C) 3=k fafoigr @

(D) IETE BAS @H

Tt ffom =57 sTTfaerr
™ |

(A) YT 29
(C) =faa
ST 3 o STJENR, 3 91 § HH-91 TE
%ﬁmﬁ%&ﬁmaﬁ%ﬂﬂa@ﬁ%mw
!

(A) T T

(B) ST I

(C) TOTHT T

D) U T

(A) eI I

(B) Taeisit &
(C) el 1A
(D) o9 FT=

 AS Y|

FRE DI

(B) 9Rd
(D) T

FHFEEHY |

128.

129.

130.

131.

132.
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megfa o yaF MU FEaTe T
FEA ¢ |

(A) THS FAIF T

(B) 9Td:shIed T

(

(

C) Il wahmeT I
D) ¥99 I

‘TRt . fiefawET |
(A) st @

(B) @ gfEry

(C) <= =Ffa

(D) T FEH

GG eaitico N Tk ik i
2l

(A) Tifae difer

(B) & &g

(C) 1. 9Yra@e

(D) FFewE

T FiaTe 91 FRATA § T,
WeI  OEEi W

Tt 2t 2 |

(A) 12; 6;[3,7]

(B) 12; 6; [3, 9]

(C) 12; 4; [5,9]

(D) 12; 4; [5,7]

Tt o =T T 1 el §ed1 71
27

(A) 16

(B) 32

(C) 64

(D) 128
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133.

134.

135.

136.

The taal Dadra is written in
layakari.

Dha S Dhin SNaS Dha STin |

1 2 3
S NaS DhaSDhin S Na S|
4 5 6
Dha STin S NaS Dha SDhin |
1 2 3
S Na$ DhaSTin SNa S |
4 5 6
(A) Aad (B) Biaad
(C) Kuad (D) None

The Khaali in a taal is indicated by
in Paluskar notation system.

Matra number

Mandra Saptak Dha in Paluskar
notation system is denoted as

(A) Dha (B) Dha
(C) Dha, (D) Dha
Deviating from original form of the
Raagas by showing the glimpses of a

near by raaga (Sama prakruti raag) is
called

A) Avirbhav
B) Tirobhaav
C) Meend
D) Gamak

(
(

(
(

O Y 000

137.

138.

139.

140.

141.

Which among the four is not one of the
MAT in Raaga-Raagini Vargikaran ?
(A) Shiva Mat

(B) Brahma Mat

(C) Hanuman Mat

(D) Vishnu Mat

The composition which is made of
swaras, but not in any particular taal is
called

(A) Nibadh
(B) Anibadh
(C) Swargeet
(D) Khayal

While singing a particular swara, if we
touch a note (swara) above or below
deliberately, then it is called

(A) Gamak
(B) Meend
(C) Kan

(D) Aandolan

The raagas which are sung between
afternoon 12 PM to midnight 12 AM,
are called

(A) Poorvang Vadi
(B) Uttarang Vadi
(C) Poorva Raag
(D) Uttara Raag

Vadi swar and Samvadi swar of
raag Todi are and
respectively.

(A) Dhaand Ga
(B) Ga and Dha
(C) Gaand Ni
(D) Niand Ga
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133.

134.

135.

136.
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T ST g | fommman 2 |

a1 S fem SIS o1 8 o |
1 2 3

STS a1 S ol SATS|
4 5 6

a1 S fm ST S o1 S o |
1 2 3

ST S a1 S fam ST S|
4 5 6

(A) 3 (B) faeme

(C) TR (D) T e

U 16 H @Iefl o1 Teeht feoaie qome!

| o I S 2 |

(A) + :

(B) HET HE&AT

C) |

(D) O

TerERt FamaTeha womeft § O3 Hww o

F ¥ § 9091 1R |

(A) (B) @

(C) . (D) =

M % A ®9 H gCH TH GHIT A

(v ) AR eEH

FEeTal B |

(A) sifawta

(B) fatrama

(C) #re

(D) THF

137.

138.

139.

140.

141,
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= T ¥ HH-81 W= e § vk
A AE 7

(A) fTama

(B) o& Hd

(C) TFuH Hd

(D) formy =

T | &t T Wy R e fawm | T
B weamie |

(A) e

(B) ey

(C) ==wiid

(D) @It

U T fo9 =1 e g9y I 'Y U =

FWR I A9 F A I B a, ™
FEAE |

(A) THF

(B) Hie

(C) =u

(D) AEreH

e 1299 ¥ 3 12 99 &F f=
EiCCIRIuE]

(A) gatT A

(B) IT AT

(C) T W

(D) I I

T TN F ATl T 3 Hare] @ S
3R g1

(A) =13

(B) T A &1

(C) mam T

(D) T2
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142.

143.

144,

145.

146.

147.
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Itis said that, Drupad style of singing was
invented by in 15" century.

(A) Tansen

(B) Gulam Nabi

(C) Shori Miya

(D) Raja Mansingh Tomar

In ancient period, Tarana was called
(A) Taan Gaan

(B) Shuksh Gaan

(C) Stobh Gaan

(D) None of the above

If a tarana has bols of Mrudangam, then
it is called

(A) Trivat

(B) Chaturang

(C) Shuksh

(D) None of the above

Miya Malhar is a combination of
raagas.

(A) Bihag and Malhar
(B) Kanhada and Malhar
(C) Megh and Malhar
(D) Kafi and Malhar

ora fra sima Tl R ferd |
g-1 garedf - aife d =g 1|
- T AfEFER

(A) Bageshru
(C) Sarang

(B) Kafi
(D) Bhimpalasi

Gayansamay of Raag Yaman is
(A) Ratri ka pratham prahar
(B) Ratri ka dwitiya prahar

(C) Shyam ka chaturtha prahar
(D) None of the above

T 0 00 0

148.

149.

150.

151.

152.

153.

Which among the four is not a
Samaprakruti raag ?

(A) Shudh Kalyan
(B) Shyam Kalyan
(C) Jet Kalyan
(D) Deshkar

The concept of changing the sound
(Am@) to be heard safety or loudly is
called

(A) Magnitude
(B) Pitch

(C) Timber
(D) Resonance

According to ancient authors, the
position of note Re in 22 shruties is

(A) 5 (B) 6
C) 7 (D) 8
According to Pt. Srinivas, the Taar
Saptak Sa is placed at inch.
(A) 12 (B) 14
(C) 16 (D) 18

According to modern authors, the
ancient Shudh Saptak is similar to

modern thaat.
(A) Bilawal (B) Kafi
(C) Khamaj (D) Bhairavi

In jaati gayan, the starting note of a
murchana is called swar.

(A) Gruha
(B) Amsha
(C) Nyas
(D) Prathama
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I7 FE] a1 ¢ foh A i gu Heft 15
el FRECIEIRI

(A) THE

(B) T i

(C) s ot

(D) TS HHTHE A

A T |, qUHT Fad 9 |
(A) TH TH

(B) IIFT T

(C) =9 TH

(D) 3% H § 1 TE

qfe T H H gam F 9 8, a1 34
FeEd e |

(A) fe

(B) =g

(C) = "

(D) 3 H & &3 A&l

LR IR C T =1 IS 2 |
(A) fogm ot Aeer

(B) Fes AN Ho'R

(C) T9 N HeeR

(D) I W el
g fra Fma i s fada |
g-nEgEt -aied =R |
- 11 afEEER
(A) =T (B) FTH
(C) @ (D) fruTerHi
T 9 1 A 99 B
(A) T &1 999 T&T
(B) i = fgefta wee
(C) ™ =1 =gy T
(D) 3% T ° F1s T&]

148.

149.

150.

151.

152.

1563.
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Frafafes a0 8 FF-m auysfa m
TR ?

(A) & FAM

(B) ¥ITH FHedTo

(C) ST FHego

(D) eI

18 %1 i 71 9 o T o o sest 9
F1 GFoqdl FEAT & |

(A) FfHoT

(B) o=

(C) fo=r

(D) 3gE

T i@l & FATER, 22 Hiodl § 1
T 8

(A) 5 (B) 6
C) 7 (D) 8
1. #fifar8 % AER I T 91
39 R @1 @R |
(A) 12 (B) 14
(C) 16 (D) 18
ST TEH  IFAR, T I3 TTH
EICIEE oTd % 9H 2 |
NBERIES] (B) i
(C) @EH (D) &t
Sfd T °, TF gEA F RS W=
S FEACE |
(A) T&
(B) ¥
(C) =™
(D) WM
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154.

1565

156.

157.

158.

159.

The order of shruties in Shadaj Gram
are

(A) 4,2,3,4,4,2,3
(B) 4,8,8,4,2,4,3
(C) 4,8,2,4,4,3,2
(D) 4,3,4,4,2, 4,3

Total number of Moorchana for shudh
swaras in shadaj gram are

(A) 7
(B) 14
(C) 21
(D) none of the above

Shudh Saptak of Carnatic Music is

called raag in Hindustani
music system.

(A) Bilawal (B) Bhairav

(C) Bhairavi (D) Kalyan

According to Panchajaati Bhed, Laghu in

Mishra jaati will have maatras.
(A) 5 (B) 7
(C) 8 (D) 9

In Madhyalaya, if 16 words are sung
in 16 seconds, then if the same 16
words are sung in 4 seconds, it is called

laya.
(A) Ekgun (B) Dugun
(C) Tigun (D) Chougun

Total number of Vikrut Swaras in a
Saptak are

(A) 4
(B) 5
(C) 7
(D) None of the above

U0 O O O

160.

161.

162.

163.

164.

165.

In a Bar, if 4 beats are written then it is
called _ , according to the staff
notation system.

(A) Quarter Time
(B) Quadratic Time
(C) Quadruple Time
(D) Quado Time

In staff notation system, /indicates

matra.
YA ® Y
© ) ©) Ne

According to staff notation, if we place

double flat (bb) before SA, then
the note played will be

(A) Shudh Ni

(B) Komal Ni

(C) Shudh Re

(D) Komal Re

If the swara has be moved from its
original position either higher or lower
then it becomes

(A) Vikrut
(C) Shudh

(B) Prakrut
(D) Chalan

The founder of Kirana Gharana is said
to be

(A) Alakhdas

(B) Abdul Karim Khan
(C) Bande Ali Khan
(D) Taanras Khan

According to Pt. Srinivas, PA is placed

at inch on the veena string.
(A) 18 (B) 24
(C) 32 (D) 36
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154,

185.

156.
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S I § Hfodi 1 &
(A) 4,2,3,4,4,2,3
(B) 4,3,3,4,2,4,3
(C) 4,3,2,4,4,3,2
(D) 4,3,4,4,2,4,3

T H Y[, T &g A 6 el T

"4

g 9 % AR g wnfa 8 oy |
qETd B |

(B) 7

(D) 9

(A) 5
(C) 8
HeATd 4, I7E 16 3152 16 Hehe | MU 1
2 1 3¢ et 16 Y182 4 Hehe § MU &,

arzd T FEd B |

(A) TR (B) g™

(C) feqon (D) <o
FHaF d fapa e figaden
2l

(A) 4

(B) 5

€ 7

(D) W F FIE T

160.

161.

162.

163.

164.

165.
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afe vk g9a O (AR) § 4 7 foeh g8 2
;sgﬁ%zmwmm%agw
l

(A) AT 2RH
(B) FaTSifes 2gH

C) ETEId 215N
(D) TSl 2IEH
W% G guredt 9, o 913 @utiar @

YA ® %
A D) Mg

mw#maﬁwwéqﬁm
%ot (bb) T & 1 ST 914 dTel W&
2

(A) T H
(B) HmHa
(C) Ts1
(D) WA

D

mwaﬁaﬁn@@xﬁamaﬁﬁm
B CIGIGRERIRIE ) o r S o
ST 2 |

(A) Foa

(C) s
ToR1 =M o woran
(A) FAeTEeH

(B) 3Tsg M @H
C) ¥2 el @A
(D) THE @H

ufed #fifHam & Agar Jon & TR W q@
29 9 @ W ¢

(B) 24
(D) 36

- HHASEE |

(A) 18
&) a2
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166.

167.

168.

169.

170.
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I a performer, performs raag Bhimpalasi
and Dhaani and then if he moves to
Multani raag i.e. from a different thaat,
then Raag Multani is called

(A) Sandhiprakash raag
(B) Paramelpraveshak raag
(C) Avirbhav

(D) Tirobhav

Raagam Taanam Pallavi in Carnatic
Music is called in Hindustani
Music.

(A) Drut Khayal
(B) Vilambit Khayal
(C) Drupad

(D) Thumri

The symbol of Pluta is in
Carnatic music.
(A) o

(B) s
©€) 2 I

(D)

‘vufigiaggggunynIan
Identify the Taan.

(A) Shudh Taan

(B) Vakra Taan

(C) Mishra Taan

(D) Palat Taan

The founder of Jaipur Gharana is
(A) Sadarang

B) Adarang

(
(C) Manarang
(D) Ashik Ali

Nana Panse died in
19" century.

(A) Banaras
(C) Gwalior

city during

(B) Indore
(D) Agra

A 0O 0RO 0 000

172.

173.

174.

175.

176.

§ A8

9, 1m0, 9gfg, @ 7 @)
Identify the raag.

(A) Bhairav

(B) Malkauns

(C) Madhuvanti

(D) Puryadhanashree

Vadi and Samvadi of Raag Jaunpuri are
and

(A) Reand Dha (B) Dha and Re
(C) Dhaand Ga (D) Gaand Dha

Total number of Taali and Khaali in taal

Ektaal are respectively.
(A) 3,3 (B) 2,4
(C) 4,2 (D) 3,2

| sne | e | 2 % | T %9 | 1R ||
X 0 2 3 0

Identify the taal.
(A) Chaar taal

(C) Jhap taal

(B) Brahma taal
(D) Sool taal

is a notational convention used
in Western musical notation to specify
the number of beats that are contained
in each bar and which note value is to
be given one beat.

(A) Bar signature
(B) Time signature
(C) Scale
(D) Beat

Raag Maru Bihag belongs to
thaat.

(A) Bilawal
(C) Khamaj

(B) Kafi
(D) Kalyan
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afe T T, T T o g
T 2 21 2 @ 3 iR a' ue i
| T o1 W Se Sl € I gedr
FEATE |

(A) aferTs Tm

(B) THSATSSTH T

(C) stfawia

(D) foisma

FATF T o T T Toord! feger
gifia ° FEAd 8 |

(A) Zd I

B) faeifea ware

(C) ¥u=

(D) g
mﬁamﬁﬁﬁ'wﬁ:@%
(A) o (B) s
C) 2 (D) |

‘ggfi@moagggaguagig’
T 1 TEEH H |
(A) s dH

(B) 9% dH

(C) Tag M

(D) TeIE a9

AL =T 6 g _
(A) HEHT

(B) TGN
(C) ww

(D) =iy 3t
T 9T il g
T H s |

(A) ETH

(C) wfeRr

ERccill

FRY 19 &

(B) ¥

(D) 3T

172.

173.

174.

175.

176.

T

MKG-XXVII/TECHMT/1T/01

9,1, sgfy, # W, #|
T JE=THT |
(A) ﬁm
(B) HThHE
(C) Hegad
(D) e
T SHYE & aTal SR qare
3R 2
(A) T3 o1 31
(C) = SR M SR 41
T TShATe H Tl SR Wl i et 9
FHIT: el
(A) 3,3 (B) 2,4
(C) 4,2 (D) 3,2

|| faan| fohe o | foe %9 | 7fg 7|
X 0 2 3 0
T 984T |

(A) =T dre (B) & AT

(C) =9 ae (D) g A1

U H 34 &1 i fAfes & & fore s

ToFan ST 2 1 94 999 09 H § 3K

mﬁmﬁ@mﬁw%l
T

(B) EAEGRTE T

(C) T

(D) e

T | o oTd | AT R |

(A) o= B) I

(C) @H (D) el
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179.

180.

181.

182.
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The jaati of Raag Madhuvanti is
(A) Audhav — Sampoorna
(B) Shadhav — Sampoorna

(C) Sampoorna
(D) None of the above

iqiw, f9, 7,7, Fu f1a;9ty,
Fu fd)

Identify the raag.

(A) Gaud Malhar

(B) Megh Malhar

(C) Miya Malhar

(D) None of the above

AR - Fadife § U=y Tl 31 |
g - L 3El - garet 9 Fea |
- T AFSHHER |
Identify the above raag.
(A) Lalit
(B) Guijri Todi
(C) Durga
(D) Malkauns

Gayansamay of Raag Puriya Dhanashree
is

(A) Ratri Pratham Prahar
(B) Din Ka Tritiya Prahar

(C) Ratri Dwitiya Prahar

(D) Din Ka Chaturtha Prahar

O O R - M O
Identify the thaat to which the swaras
belong.
(A) Marwa
(C) Kafi

(B) Kalyan
(D) Bilawal

K000 000

183.

184.

185.

186.

187.

188.

Identify to which jaati does the below
bols belong to in Carnatic music.

7% fom o dfee
(A) Chatusra jaati
(B) Khanda jaati
(C) Mishra jaati
(D) Sankeerna jaati

3 Hexm i Tefe 3w % 1 e |

g - fr 3t - warfe e Fa1 973 |
- T AfEFER

Identify the raag.

(A) Hamir

(C) Chayanut

(B) Kedar
(D) Kamod

177 g, Hag, T

Identify the raag.

(A) Kamod

(B) Khamaj

(C) Jayajayavanti

(D) None of the above

Pick the odd one.
(A) 94 911
(C) HAgds d™

(B) gtwam
(D) Taaa I

Pick the odd one.

(A) Manjeera (Hsi)
(B) Khanjari (GsH1)
(C) Nagada

(D) Damaru

Kishan Maharaj belongs to
Gharana of tabla.

(A) Banaras Bagj
(B) Punjab Baaj
(C) Delhi Baaj

(D) Ajarada Baaj
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T HefE s S #
(A) 3heE-Fq

(B) Hrera-wi

(C) &gl

(D) 3% | 4 HIE T

1914, f 9, 9,9 0y 73,919,
GRS

T Y2=1HT |

(A) T HeeR

(B) HY HeEl

(C) Tt meew

(D) 394§ F IS &

ARTE - e o TuE g B |
g-fiadi-gadidasded |

- T SSFER |
T JEETT |
(A) wferd
(B) T AT
(C) g
(D) HeAHH
T i et o e 99 2
(A) TR 9| 9=t
(B) e =1 qeia wax
(C) ufA faerg wex
(D) T =1 =ged w=t
gy ®73y 7oww 1T
(A) TR (B) M
(C) =TI (D) fooma=

183.

184.

185.

186.

187.

188.

MKG-XXVII/TECHMT/1T/01
FAtes Trfta § = fou mu 919 form sfa
T ATd &, TEET |
(A) =g STIfd
(B) e STfd
(C) Tasu =fa
(D) Tl S

g om e Tefe S aF 1R |
g-flad -vafesi_ FEiER |
- T TR
T YETHT, |
(A) @TEL
(C) BmTd

tnig fyw T

T g |

(A) FHR

(B) @HS

(C) SasFadt

(D) 394§ I HIE e

a1 fi= wifeu |

(A) =9 9T

(C) Aaag am™

gao f9=1 Be |

(A) HsRT

(B) @il

(C) e

(D) =W

?mmm? ek feint
|

(A) SARH TS

CREIEEIS

(C) el o

(D) ST &S

-

(B) *al
(D) FmMIE

(B) g am
(D) foaq am
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189.

190.

191.

192.

193.

194.

Ustad Alla Rakha belongs to
Gharana.

(A) Banaras Bagj
(B) Punjab Baaj

(C) Lucknow Baaj
(D) Ajarada Baaj

‘

FEHEAHE - This bol is

(A) played left hand (S1f&4 =19 i)

(B) played by right hand (T8 =19 %
e

(C) played together by both hands (3
m% £ t?f%q%ﬂ )

(D) None of the above

During tuning Pakhwaj, the wet dough
is removed to the swara/pitch.

(A) Increase
(B) Decrease
(C) Stabilize
(D) None of the above

Which among the four is not one of the
Gruha mentioned in 10 Praan of Taal
(AAF T 2

(A) Sama (B) Vishama

(C) Ateet (Jd1d) (D) Teet (<)

The string of Sitar is plucked using
Mizhrab (T9SRT&) this process is called
(A) Bhari ()

(B) Aaghat (3mHmd)

(C) Jharb (3)

(D) None of the above

Which among the four is not one of the
10 bols in playing tabla ?
(A) & B) 3
(C) H (D) =

U 00 00 0

195.

196.

1897,

198.

199.

200.

While playing Sitar, if 2 notes are played
one after another, where first note is
played using Mijhrab and the second
note using the finger then it is called

(A) Jhaal (B) Jhamjhama
(C) Kruntan (D) Gamak

The Gat (71d) in which the bols of Sitar
are in Vilambit laya, is called

(A) Mascitkhani Gat
(B) Rajakhani Gat
(C) Vilambit Gat

(D) None of the above

Bach was born on

(A) 21 March 1685
(B) 22 March 1685
(C) 21 March 1695
(D) 22 March 1695

The opera, “The Music Flute” was
composed by

(A) Bach
(C) Beethoven

(B) Mozart
(D) Schubert

was born in Bonn, Germany.
(B) Mozart
(D) Schubert

(A) Bach
(C) Beethoven

Beethoven expired on
(A) 26 March 1837
(B) 27 March 1837
(C) 26 March 1827
(D) 27 March 1827
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IR Hedl @l T g

EA 2 |

(A) SHTE TT9
(B) USTE AT
(C) T@S =i
(D) TR T

‘FETHAH TE A 8

(A) =ifes 219 % =1 (played left hand)

(B) I 7Y F SNl (played by right
hand)

(C) =M1 &1l F wityfera 51 (played
together by both hands)

(D) I H 4 F18 4&

TEEs FI dF g4 TH e qie @i /e
£ Tq g e S @ |

(A) =M ‘

(B) =W

(C) fer=m

(D) 35 | § FrE T

0 9 ®H-91 91 & 10 91 8 feafaa
TRIAHTFH TR E 7
(B) famm

(A) 99
(C) dia (D) dia

T % ar fusre 1w e e S
&, = ufsrn FETdl 2 |

(A) s

(B) mETd
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This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wiong Method

O®0O0

Wrong Method

0000

Wrong Method

C®@OO

Correct Method|

Ce00

The Candidate must mark his/her response
after careful consideration,

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, Cor D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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